LO: To be able to solve word problems involving division 
	1. 28 children go swimming in groups of 4. How many groups will there be?
	2. A shop sells postcards in packs of 6. Kerrie bought some packs of cards. Altogether, she has 30 cards. How many packs of 6 did she buy?
	3. Write in the missing number:
160 ÷ 
      = 8

	4. Each of these bags contains £1.60. Each bag contains only one type of coin.

Complete this table to show how many coins are in each bag. One has been done for you.

Type of coin

Number of coins

1p

160

10p

20p


	5. Plants are sold in trays of 20. 

Kayleigh wants 240 plants. How many trays does she need to buy?
	6. Here is a CD rack.

One rack holds 25 CDs. Brodie has 83 CDs. How many racks does he need to hold all his CDs?

	
	7. Write in the missing number:


÷ 4 = 23
	8. Calculate

56 ÷ 4 = 

	9. Harvey has 85 football cards. He shares them out between himself and his 4 friends. How many cards do they each get? 
	10. A coach holds 24 people. 
58 people are going on a school trip. 

How many coaches will they need? 
	11. 100 people were at a BBQ. There were 300 sausages. How many sausages could they have each?


